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< 44,000
Al 44,000
SOE AH AF S X 180,000 0 180,000
= 90,000
Al 90,000
201 er2 3| 180,000 0 180,000
=S 90,000
Al 90,000
03 A= 180,000 0 180,000
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Al 90,000
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= 1,573,466
Al 4,445,967
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=S 114,000
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== 114,000
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S 113,190
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= 810
Al 1,890
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< 29,680
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& 29,680
Al 69,248
02 2B YA HE X 98,928 96,508 2,420
HEMEZR20IE MRS WEXZ 98,928
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101 21AH| 47,774 46,861 913
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 367,336 347,480 19,856
HEAN=H ZAs=clb 367,336
03 A2 THYI 2,664 2,520 144
HEAN=H ZAs=clb 2,664
M2 SHI(HAH X2 78,000 118,000 240,000
307 @I2to| & 78,000 118,000 40,000
04 QIZHHAMAIH 2 £ 78,000 118,000 240,000
&g SOK 8,000
SEE F=10[ - =Cel =AM 20,000
a5 = =M 30,000
EE J|IZH = 20,000
st= M RAE 2SS 38,340 28,350 9,990
== 11,500
Al 26,840
201 =3 38,340 28,350 9,990
< 11,500
Al 26,840
01 At22t2lt] 38,340 28,350 9,990
SRSAIRAE RS(ES) 38,340
= 11,500
Al 26,840
ool stek stots W=l 30,000 30,000
307 gl2tol & 30,000 30,000
04 QIHHAMAIH 2 £ 30,000 30,000
ogel stek stotsStzl A 13,000
=401 StEh BHOLE @A XIR 17,000
ANE2e|0Y SEAHI 153,000 0 153,000
= 85,000
== 20,400
Al 47,600
402 2I2FX=201H 153,000 0 153,000
= 85,000
S 20,400
Al 47,600
02 RIENZASEZ(0IETHR) 153,000 0 153,000
AE2el0g SdAgH 163,000
= 85,000
= 20,400
Al 47,600
Hedoy dd2gs A 545,769 496,154 49,615
== 165,000
Al 380,769
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307 lztol & 545,769 496,154 49,615
= 165,000
Al 380,769
06 2= 545,769 496,154 49,615
HEng 3=2sEs N& 545,769
= 165,000
Al 380,769
Zae=itE Mol28s A 10,800 13,500 A2,700
< 4,320
Al 6,480
307 elztol & 10,800 13,500 A2,700
& 4,320
Al 6.480
6 28 10,800 13,500 2,700
dalttE MolE282 N2 10,800
= 4,320
Al 6,480
A0 sOHEHIOISE 2t 12,050 12,050 0
101 21AH| 2,400 2,400
04 JIZtN2Z2XNSE+ 2,400 2,400
A2 sHEHOSE M=
200,000 x2H 6! 2,400
201 er2 3| 9,650 9,650
01 At2t2lt] 5,000 5,000
07 sHEHOISE AIEF A 5,000
2 s5=34l 4,650 4,650 0
=X sHEHOISE 22 3323 4,650
oty 2gol dgsl 243 AE 10,800 10,800
307 @120l & 10,800 10,800
02 QB AANEE R 10,800 10,800
=40 Fdgel 28A ggel Ws2g A 10,800
F01Ql == XA 10,000 10,000 0
301 2EN= 10,000 10,000
14 JIEt2 =3 10,000 10,000
Fogel s NBAL 10,000
S0 23A X2 70,000 40,000 30,000
307 elztol & 70,000 40,000 30,000
02 2IZHBYAIAE & 70,000 40,000 30,000
=SX00 2&3AH X2 70,000
G HAHE0E =g 168,000 153,000 15,000
201 fet=3| 3,000 3,000 0
01 AtR2t2|HI 3,000 3,000 0
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S HAEDIE 2 3,000
307 el2to| & 165,000 150,000 15,000
05 2I2tRIE S 165,000 150,000 15,000
Y HAHE0E =2 165,000
SEIs RFERAE EX(EHE)(HEAY) 150,000 366,512 N216,512
== 129,000
Al 21,000
401 AIEHIZ SR 0HYI 150,000 366,512 N216,512
< 129,000
Al 21,000
01 Al&H| 148,800 363,873 A215,073
=Eg 240 ZXI3AM 148,800
= 127,968
Al 20,832
03 AIZ S THYI 1,200 2,639 A1,439
=Lg F40 ZXISA 1,200
=S 1,032
Al 168
2 =AM K& 250,000 200,000 50,000
307 212+01& 250,000 200,000 50,000
04 QIZIHAIAIRH 2 & 250,000 200,000 50,000
28 4 =N XA 250,000
e MR 2= 316,857 461,500 144,643
= 221,800
< 28,517
Al 66,540
402 QI2F X201 & 316,857 461,500 A144,643
= 221,800
== 28,517
Al 66,540
02 RIINEASEZ(0IETHR) 316,857 461,500 144,643
e MEHEN7 25 316,857
= 221,800
S 28,517
Al 66,540
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= 68,040
= 8,748
Al 20,412
307 @120l & 97,200 103,200 26,000
= 68,040
= 8,748
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= 8,748
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Al 28,000
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& 12,000
Al 28,000
03 QIZIHXEHE2IHIEX 40,000 40,000 0
S3A AHAESKAHAH XA 40,000
T 12,000
Al 28,000
ess )& - Zdl - 4] &% - wXl XI& 160,000 201,700 A41,700
= 80,000
T 80,000
402 QI X201 ™ 160,000 201,700 A41,700
= 80,000
= 80,000
02 QIZEXHE2AIZ 2 (01 & TH &) 160,000 201,700 A41,700
lsE =32 - Fdl - 8] 84X - A K& 160,000
= 80,000
= 80,000
7 - Y =& sHF2te| 72,619 69,447 3,172
101 e124d| 52,619 49,447 3,172
M IIRNZ22XsSEs 52,619 49,447 3,172
HAHY =&E S22 52,619
A== 49,300 *4H 175 34,510
=5 49,3002 *4H 33 6,508
-Ex=g 49,300 *4H+7& 1,381
-= 2| 140,0003 x4 H +8H 4,480
SmA=s]l 70,0003 x4 8 2,240
g4 5,0002 x4H x 175 3,500
201 L2 AY| 20,000 20,000
01 A=R2teld| 20,000 20,000
HAHY =6E FXI22 20,000
X2 ot ztel 23,000 23,000 0
201 Ler23H| 20,000 20,000
01 At 2elt] 20,000 20,000
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Rl HPENEE & HYIXE (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
THAHCHHI & ol 2te| SRR (™ EX| &
X ¥ =2 MH) 20,000
202 04dl 3,000 3,000
01 2L AL 3,000 3,000
Moty & old2te] RN 3,000
&AL GIAIAE =X 29,600 33,600 24,000
= 14,800
= 14,800
402 BIZtAH=01H 29,600 33,600 4,000
= 14,800
s 14,800
02 QI X2 AL EE(0IHTHE) 29,600 33,600 24,000
OlEAILD GIAIAE =X 29,600
= 14,800
[ 14,800
HEAN sSHYEY &4 500,000 0 500,000
401 AlZHIZ SO 500,000 500,000
01 A28l 500,000 500,000
HENS 243 SSHEE &4 500,000
ZetF=ME HIRAIE HEX 49,223 0 49,223
= 49,223
301 LEetE2 N = 49,223 0 49,223
= 49,223
14 IIEt2 83 49,223 0 49,223
L2 HEAMZ AEN 49,223
= 49,223
AT NN 2,144,286 1,728,571 415,715
s 1,501,000
== 192,986
Al 450,300
403 AXIEHHS X201 2,144,286 1,728,571 415,715
= 1,501,000
= 192,986
Al 450,300
02 SII12ASOITH St =2 X A E A I 2,144,286 1,728,571 415,715
HZ0t=(&8H1el) oEdotoe 2,144,286
[ 1,501,000
= 192,986
Al 450,300
so2I=g(0el) Xd(2x) 1,576,800 1,404,600 172,200
== 630,720
Al 946,080
301 22N = 1,576,800 1,404,600 172,200
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< 630,720
Al 946,080
14 IIEt2 8= 1,576,800 1,404,600 172,200
soleg(oal) X2 1,576,800
= 630,720
Al 946,080
HEMESL0ts &d 10,000 50,000 240,000
401 Al HIYL S0 10,000 50,000 40,000
01 AlZ2H| 10,000 50,000 240,000
OIEMEFS0E JIBAIE O 10,000
SO 212 (0181) X1 (XHA) 30,000 30,000 0
201 =3 30,000 30,000
01 At22telt] 30,000 30,000
olplag 2= o) 600
OlDl4g BUAZAZA LM U] L
S 29,400
FAHB SO AR TiHE &4d] X 10,000 0 10,000
301 EtE2 NS 10,000 10,000
11 #AIAHIXIE S 10,000 10,000
AP FFO HEtsl e FAH X2 10,000
LMD 7Y 5,000 5,000
402 212 X201 & 5,000 5,000
01 QI X2 AL E R (KHHITHE) 5,000 5,000
DEAFHI| 7Y 5,000
o f=&k X2 st 3,612,676 2,932,270 680,406
= 879,200
= 1,067,936
Al 1,665,540
NPNEE QTS 1,808,546 2,057,990 N249,444
= 74,000
& 636, 156
Al 1,098,390
SAEQ 2 (SHE) (HEALY) 464,500 500,000 235,500
= 418,050
Al 46,450
206 M=l 464,500 500,000 /35,500
= 418,050
Al 46,450
01 M=4l 464,500 500,000 /35,500
&S Y EE 464,500
== 418,050
Al 46,450
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HiXI= S A& 250,000 250,000
402 QI”F X201 & 250,000 250,000
01 QI X2 AL E A (KEMITHR) 250,000 250,000
BHXIE SHAA 250,000
SMED Y= 157,000 261,000 104,000
201 er=23y| 7,000 7,000 0
01 AtR2t2|HI 7,000 7,000 0
TS SFEAL 7,000
206 M=l 150,000 150,000
01 M= Hl 150,000 150,000
SHUS S HYE= 180,000
HsoE MHExd 78,120 84,000 25,880
= 23,430
Al 54,690
402 2I2F X201 & 78,120 84,000 A5,880
= 23,430
Al 54,690
02 QI XHZ AL E R (01X THE) 78,120 84,000 /5,880
HROHE AHExE 78,120
s 23,430
Al 54,690
offet MalEZ g 185,240 233,340 48,100
S 55,570
Al 129,670
402 QI”F X201 & 185,240 233,340 /48,100
= 55,570
Al 129,670
02 QI A2 AL E R (0IHTHE) 185,240 233,340 /48,100
ofles Majetd 2gXa 185,240
= 55,570
Al 129,670
AR Ahet - A E Y 76,500 76,500 0
[ 22,950
Al 53,550
403 TR SHMSAH=01H 76,500 76,500 0
= 22,950
Al 53,550
02 SISOt 2 S A AIEHI 76,500 76,500 0
R0l drety &d 76,500
= 22,950
Al 53,550
oA 2 58,000 26,000 32,000
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